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Answers
	Task 1
	Task 2
	Task 3
	Task 4

	Practice

a) 7.00am or 
7 o’clock am

b) 9.30pm or half past nine pm

c) 3.00am or 
3 o’clock am

d) 6.00pm or 
6 o’clock pm

e) 11.30am or half past 11 am

	Practice
a) 6.15pm or 
quarter past 6 pm

b) 7.45am or 
quarter to 8 am

c) 11.10am or 
ten minutes past 11 am

d) 5.20pm or 
20 minutes past 5 pm

e) 2.05pm or 
5 minutes past 2 pm
	Reasoning

Dora is more likely to be correct, because if she sleeps 8 p.m. to 8 a.m., she would be sleeping through the night, and wake up in the morning. Teddy is likely to be incorrect, because he would be sleeping all day and waking up at 8 p.m. (in the evening)

Steph is correct. Two hours earlier would be 12:10am. Sean’s time shows 10 hours later.
	Problem solving

Ron could be catching the train to Edinburgh or Leeds. Children should explain that analogue clocks give no indication to a.m. or p.m. and since it is 20 past 7, Ron could be catching the 8:20 a.m. train or the 7:35 p.m. train.
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Creats, discover and succeed together




